| N of associated (recoToSim) looper tracks vs dxy’ |

[N of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

K= 8=
£ £
o o
SN o N
< Qo
© x
O x [5)
— O — ©
S s o 5
= =1
Lo g
[=} £ o
5
g
[te} 8 o
_ E "
o 2
G- N
o £ I
i F 1
! g
o 8 o
IN g I
1 8 1
S s @
Q= 8=
£ £
o< 2
— > o N
= ~ O
© X
S x (5]
-5 IS
s o =
o~ -
o )
0 o
o 1
—
! o
™ I
— 1
1
o o
I Il
1 ol
] (=] =) 2 ]
S = = 3 =
SyoRl) By oney
L= —
k £ £
O &)
- NG ~
q — > N
q 5 °
& 2% E
3 S |u s
J = °
- Lo »
q g
: P
2
© g
[te) 15
! 2
=) 'S
K ]
It) B
— k<t
| S
o
o a
N &
s z
syoen an Ll syoenann oney
R 8=
£ £
&) O
o =~ A
— > N
X °
O x 3
S IS
o] k=]
=1
)
o

3 G o
o o o
i — —
syoel

N of reco track vs dz

syoel




	Contents
	Page 1


